Section 4.7



Precalculus w/ Trig
Name____________________

Worksheet 3







Period________

1.  State the domain and range for each inverse trigonometric function.



	Function
	Domain
	Range
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2.  Find the exact value in radians of each expression.
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3. Find the exact value of each expression. 
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B. 
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D. 
[image: image16.wmf]1

5

tancsc

4

-

éù

æö

-

ç÷

êú

èø

ëû


E. 
[image: image17.wmf]1

7

sinsin

6

p

-

æö

æö

ç÷

ç÷

èø

èø





 

4.  Multiple Choice:


The domain of this trig function
[image: image18.wmf]1

csc()

-

=

yx

 in 

A).  degrees

B) radians 
C) Either degrees or radians 
D)  a ratio of two sides
5.
Use a calculator to approximate the value of the expression in radians.  Round your answers to the nearest thousandth.  
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6.
For the equations
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,  circle all the answers that are true:
A. The domain is in radians and the range is a ratio.

B. The domain is a ratio and the range is in radians. 

C. The domain is all real numbers and the range is 
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E. The domain is  
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7.  Write an algebraic expression that is equivalent to the expression.  Hint:  Sketch a right triangle.  
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B. 
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8.  Sketch the graph of  
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